bidnas: Hue or fdse maze

Find your way through the maze by shading all the blocks that are true. You cannot move diagonally.

Start
3 +2x6=15 20-18+6= 17 10-3x4=28 8+6x2=28 8+4°+8=3
5-2x2=6 4+3%=13 15-10+5=1 7-32=16 5+ (6-2)x5=45
(3+5)x2=13 12+4+2x4=11 8x3 +6+3=10 3+2x4-5=15 6+3+3=3

6-1)+3x2=16 20-4+2 =18 10-3%2=1 10-2x3-4=20 2+1x3 =9

10 - 3 =49 10+2+3x2=16 2x4 -2°=4 3+49+3-2=2 8x2-1=8

7-2x3=15 8°-6+2 =29 (3+4)+(4+3)=1 | 4+12+(5-1)=4 8+4°+8=3
Finish

3x4+2=18 10+5°+5=7 (6-3°-8=1 7+7-18+3°=12 12-3x4=0




